10

GRLC

10

V=0.

139 4

. 149

. 149




B L H
( _In ( _In ( _In (_m3
0 .07 1.51 0 .50 0. 0340
0 .06 1.01 0 .50 0. 003 3
0.04 0.04 0.30 0. 080 4
0 .52 0 .02 0 .30 0. 050 1
0.01 0 .51 0.30 0. 050 0
0 .08 1.03 0 .50 0. 0052
0.02 0 .03 0.30 0. 0801
0 .02 0 .02 0 .30 0. 020 1
0.05 0 .07 0 .50 0. 0517
0 .56 0 .06 0 .50 0. 0519
0 .06 0 .06 0 .50 0. 001 8
0 .06 0 .01 0 .30 0. 080 1
0 .02 0.01 0.30 0. 060 O
0 .05 0 .01 0 .30 0. 050 1
0 .60 0.30 0 .32 0. 040 0
0. 149 4
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.07

(0. 02Kk

kg

.81




B L H W
(_Im m (_Im ( _Kg
0. 020 ( .07 0.01 0.061
.07 0.61
=B x H x L x W
1, 00kkgB8m B 50 mm 3 mm
B L H W
( m ( ( kg
0 .50 .07 0.80 0. 97
.07 0. 97
=B x H x L x W




10

t =1 ¢

3

.10

.10

.71

24-12B 258B

.20

R|d|R |33

M2

SD3483, D1

25




( t =2)00 mm

(0.15+0.15+x02. 20+0. 20) = 1.04 m
( )
0. ¥B. 0. %@ = 0. 60n8
( )
= 0. 60nNn8
Al : 1x/ (20 . 2 3 6 +x00..31000+)x00. . 010 = 0. B3n2
Al : 1x/ (21 . 2 3 6 +x10..31000+x00. . @10 = 0. I3n2
Al : - 0x.02.0% Q = - 0.00 4n2
A2 : 1x/ (20 . 2 3 6 +x00..31000+x00. . @10 = 0. @3 n2
> = 0.17n2
(24-12-25B8B
Al : 1%/ (20 . 2 3 6 +x00..3%000. p1 = 0. 070 2n8
Al : 1x/ (21 . 2 3 6 +x10..3%000. p1 = 0. 071 2n38
Al : 0O0x0520. ¥Q = 0 . 000 6n38
A2 : 1x/ (20 . 2 3 6 +x00..3%000. p1 = 0. 070 2n38
> = 0. 012 4n3
Al (0.236+0.x300.01+0. 119) = 0. 66 n2
Al : (1.236+1.x300.01+0. 119) = 0. 86 n2
Al : 0x052Q = 0. 06 n?
A2 : (0.236+0.x300.01+0. 119) = 0. 66 n2
> = 0. 85n?
Al C 2 = 2
Al C 4 = 4
A2 D2 = 2
> = 8



8.

Al

H 21-

Al

H 22-

A2

H 23-

o

[EnY

o o

(SD345, D13

. 0x728 O .
. 1x518 0 .

. 0x748 O .
. 1x518 0 .
. 2x528 0 .

. 0x728 0 .
. 1x518 0 .

© ©
oo
~ X
Q
~ ~

o © ©
o © ©
o oo
~ XN X
«Q  Q
~ ~

o ©
g g
~ X
«Q «©
~ ~

o o

= O

o O

.41
.61

.82
.51
.05

.41
.61

.35
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.37




.3y



10

t =m0 c m 5.02
t =510 m m 11672
t =m0 c n2 2311 (2.31m
3cm 6c¢cm ne 7 .23
n3 0.73
«C ) n3 2.86
24-1H”-25 nB 0.73
n2 1.86
ES( ) m 116¢2
M2 18
SD3483, D1 kg 5 10.
70 0 2127
18-8-25H80cC ne 2 31. (2.31m
n2 2311

RC-40,m =30nr




( t=10cm

Al 2 .08 = 2.08 m
A2 2.04 = 2.04 m
> = 5.02 m
( t=50mm
Al 5.36 = 5.3 m
A2 5.36 = 5.36 m
> = 1162 m
( t=10cm
Al 1491 = 1491n2
A2 8 .29 = 8.29 n?
> = 2311 n2
2 .13 m3
(t=%cm
Al 5.6x3(20. 30¥0. 30 = 3.83 n2
A2 5.6x3(20. 40%0. 30 = 3.49 n?
> = 7.23 n2
( )
( )
7.830.50 = 0.73 n3
«C )
23.x101. 1@. 8@ .50 = 2.8 n3
(24-1%2-25H
Al 5. 6x3(20 . 3 0 +x00..800 ) = 0. 26n8
A2 5. 6x3(20 . 4 0 +x00..800 ) = 0. T9n8
> = 0. 86n8
Al 5. 6x302. 8 8 = 0.48 n2
A2 5. 6x302. 8 8 = 0.48 n?
> = 1.8 n2



Al
A2

10

Al
A2

11

12

Al
A2

13

Al
A2

14

Al
A2

( EX )

NN

o1 O

o

a1

(18-

. 83 = 5.83 m
g3 = 5.83 m
> = 11.426m

& 2x 2 = 88

& 2x 2 = 88

> = 18

(SD345, D13
. 0x4858 0. 99 Mk g/ = 39 kg
. 4x322 2x 0. 99 mk g/ = 2 16. kg
. 0x4858 0. 99 Bk g/ = 39 kg
. 4x328 2x 0. 99 Mk g/ = 2 16. kg
> = 510. kg
( 70 )
. 4x302. 0x012000 = 1068 0
. 4x302. 0x012000 = 1068 0
> = 2127 0
8-25H,t=10cm
1491 = 1491n2
8 .29 = 8.29 n?
> = 2311n2
2 .13 m3
RC-40,)t =30mm

1491 = 1491n2
8 .29 = 8.29 n?
> = 2311n2



t = 5m m m 3.35

3cm 6cm ng 0.15

n8 0.30

( ) n8 0.30

@ 12520 1

12528 1

¢ 12528 1
kg 3.93 0.80m3

10 g 0 .24

18-8H 25 n8 0.20
‘Spbg;‘glo'xod'@ 1| TSDR- BF
‘Spbg;‘glo'xod's 1| TSDR- BH
‘Spbg;‘glo'xmg 1| TSDR- BH

SUSA3O0 m 1.04




( t=p0mm
0. 525+x02. 835 = 3.35 m
(t=%cm
0 . 5x205. 3x235 = 0.15 n2
( )
0. 8580 .50 = 0.30 n8
( )
0. 580 .50 = 0.30 n8
13x20 = 1
@13x 23 = 1
p13x28 = 1
= 1.13
(m/ 40. 1251 20. 102802 )x810 = 0. @On8
(m/ 40. 1251 20. 10280 2 px015 = 0. @On8
(m/ 40. 1251 20. 102802 Px310 = 0. @On8
> = 0. 60n8
W = 0x003%31000 = 3.93k g
, 1. 70t/ m3
(m/ 40. 1251 20. 108202 Px210. ¥ 0 0.0Q@0#¥

0.24 kg



18-8-25H

0 . 5x205. 3x205. 8 8 = 0. 62n8
(0. ¥@5125 +x00..23225% §Jx20 . © 3 = - 0.10 On8
mn/ 40. 10x20".28 38 = - 0.10 On8
> = 0.02n8
@10x1.x040
nm (ko NE
Piepp 10 43 1l 2.25 11 11 |SUHA3|0
1 02 02 |SUA3|0
PL 10 x 10 80 3] 0.97 01 03 |SUHA3|0
16
1 16
@10x1.x046
jnm 1 ( kg NE
Piepp 10 49 1l 2.25 12 12 |SUHA3|0
1 02 02 |SUA3|0
PL 10 x 10 80 3] 0.97 01 03 |SU#HA3|0
17
1 17
@10x1.x040
jnm 1 ( kg NE
Piepp 10 48 1l 2.25 12 12 |SUHA3|0
1 02 02 |SUA3|0
PL 10 x 10 80 3] 0.97 01 03 |SU#HA3|0
17
1 17
SUSAJOPiep| 010 3 5|kg
SUA30 0 6[kg
SUSAJ 0O PR t =01 0 9(kg




10 10x1.0

L= 0.44 m/
L= 0. 86m/
L= 0.94 m/

0.44 x 1 0. 86x 1 0.949 x 1 = 1.04 m



10

t 15 m .04
3cm 6cm ne .04
3cm 6cm ne .04

n3 .42

( ) n3 .42

18-8-25H0 n3 0 .42




. 9@.05

(t=82m 10

. 80 .05

. 40. 83

. 40. 83

(18-8-25H) t=10

. 80. 80.01

.04

.42

.42

.42



10




1104



10

.57




0 . 5x000. 5x030 = 0.57 n2



